#8 CAN OPENER

LIST

PART # PRICE u/m DESCRIPTION

AD28 6.00 EA. ARBOR, #8

A509 15.00 EA. ASSEMBLY, #2/#8 HANDLE & KNOB

A512 2.00. EA. BASE HARDWARE PKG., #1/#2/#8/G-2/U-12 (3-S503&3- NOSQ)
- AB22 30.00 EA.-  ASSEMBLY, #8 HANDLE & ARBOR

A927 40.00 EA. ASSEMBLY, #8 REPAIR CLAMP

A932SP 16.00 EA. - ASSEMBLY, #2/4#8 CRS (MILD STEEL) INSERT BASE

A933SP 28.00 EA. - ASSEMBLY, #2/#8 STAINLESS STEEL BASE

B0OS 59.00 EA. BAR, #8 SLIDE

B033 6.00 EA. BEARING, #8 FLANGE

Bi23 8.50 EA. BUSHING, #8

GOO7SP 12.00  EA. GEAR, #8 DRIVE, SINGLE PACK

HOo2 10.00 EA. HANDLE, #2/4#8/G-2

Ho22 15.00 EA. HOLDER, #8 KNIFE

1065 4.00 PAIR INSERTS, #2/#8 UNIVERSAL BASE

K0oo8SP 5.60 PKG. KNIFE, #8 SINGLE PACK '

K011 2.00 EA. KNOB, BLACK #1/#2/#8

P030 50 EA. PIN, ROLL 3/16 X 1-1/8 PLATED

R040 .60 EA. RIVET, #1/#8 KNIFEHOLDER .247 X 1-5/8

S154 5.00 EA. SPRING, #8

S197 6.50 EA. STUD, #8 KNIFE

$255-3 3.00 PKG. STUD, #1/#2/#8/U-12/G-2 KNOB, 3 PACK

WO056 1.00 EA. WASHER, #8 THIN '

dl : d £ - 159 Industrial Parkway, Burlington, Vermont 05401- «  PO. Box 929, Burlington, Vermont 05402 -
L un {800} 772-2126 ~ Fax (802) 862-4822 « Visit our website at: hitp:/fwww, Fdlmdcnr‘om C o 0sie2

~



http://www.cvisiontech.com/

#8 CAN OPENER

I : & 159 Industrial Parkway, Burlington, Vermont 05401 = F.O. Box 929, Burlingion, Vermont 05402
d d 1150 9001 ‘ oL
b | un - @y (B00) 772-2126 - Far (802) 862-4822 « . Visit our webeite at: hitp/eysr Edlundnneem 7 oalon



http://www.cvisiontech.com/

